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Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 42

Number of Questions to be attempted : 42

Section Marks : 100

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 5521311225
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 55213113906 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s/are not true about teaching?

Options :
Analysis and Assessment of Teaching Provide Feedback for Further Improvement m
Teaching Method.
2758 w0 0l DFke S09Y g BEBY DrHBESTR8 Ageca T ety
55213154601.
It Involves Communication Skill.
S S8560 BYres A0
55213154602.

It 1s a Process Not an Act.

B0 &8 HF0o IrED W, &3 BB
-

55213154603.



It is the only means to provide knowledge.

DATDH HOPTY) LoSEIDTIS HBS FEIo
55213154604.

Question Number : 2 Question Id : 55213113907 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

According to modern concept of teaching learning process the position of a teacher m the class-
T00M IS
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Options:

A chairperson

.8 efHAe
55213154605.

The Umpire

Tl APBI Q0pdre
55213154606.

One of the member of the group

JBrirod® ws0m
55213154607.

The director of the group

RDeFERS8 B Ham
55213154608.

Question Number : 3 Question Id : 55213113908 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is correct with regard to relationship between syllabus and
curriculum?

DD (o8 0o o7 (Gerde iy Jomoged) FPDod B3 ($8aRGN

L

Options :

Syllabus 1s a part of curriculum.

DRAD (SHeS Doy (Bee@5E® gerio
552131546009.

Curriculum is a part of Syllabus

DT [Berds DRAD He358° gerio
55213154610.

Syllabus 1s an annexure to curriculum.

DR (FHesrds Doy (Der@SH edhoogo

55213154611.

Curriculum is an annexure to Syllabus

D (Dez@S DAAD (DS edhnogo
55213154612.

Question Number : 4 Question Id : 55213113909 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Which of the following skills are not a must for present day teacher to adjust effectively with the
classtoom teaching?
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Options :

Knowledge of technology
ok
55213154613.
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Use of technology in teaching learning

PETgrIIE° FOSBIE DATITo
55213154614.

Knowledge of students' technology based needs
AlnpyeriIisViEsleletlelaTela Ty FoSEH3E urrld uddoe HBoRKo
= =
55213154615.

Mastery of preparing technology based programs

FOS8S uprod Y Eire Sairts’ s
55213154616.

Question Number : 5 Question Id : 55213113910 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
The students who keep on asking questions in the class should be:

S81186° S5 (BHeEN dohed
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Options :
encouraged to find answer independently

Sradore Sarrrares 5055508 (@88 20D
55213154617. ~ b 2



advised to meet the teacher after the class

SBHS Bo78 &arpRdind) Sodaed
55213154618.

encouraged to continue questioning

BEodSeeR) @PSEromd
55213154619.

advised not to disturb during the lecture
&dHTN0 e’ vwoso SDOITER Kool
55213154620.
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Question Number : 6 Question Id : 55213113911 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The depth of any research can be judged by:

e.8 HOES S*d &R Troe ATBoSS)
]

Options :
title of the research.
OGS 403
55213154621.
objectives of the research.
HOSES O
55213154622.

total expenditure on the research.
5838
55213154623.
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duration of the research.

D05 oSt
55213154624. =
Sub-Section Number : 2
Sub-Section Id : 5521311226
Question Shuffling Allowed : Yes

Question Number : 7 Question Id : 55213113912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a Method of Research?

Bod TS DO HOI’GI DS o
Options :

Observation

../ (=)
Sdes

55213154625.

Historical

FO(EE)s
55213154626. &

Survey
S
55213154627.

Philosophical

Efﬁf;é
55213154628.

Sub-Section Number : 3

Sub-Section Id : 5521311227



Question Shuffling Allowed : Yes

Question Number : 8 Question Id : 55213113913 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Action research is
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Options :
An applied research
2.8 @508 D05
55213154629.
A research carried out to solve immediate problems
See DR BOHOoSERS B0 VO ES
55213154630.
A longitudinal research
Edsee HOES
55213154631,
Simulative research
SO S PErL DO
55213154632.

Question Number : 9 Question Id : 55213113914 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Generalised conclusion on the basis of a sample 1s technically known as:

J L o
2.8 (HBI0TS H0ED0DN oo FoSr

Options :

55213154633.

55213154634.

55213154635.

55213154636.

Question Number : 10 Question Id : 55213113915 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Data analysis and interpretation

Soeod DFXes SO o8 TolRh

Parameter mference

Statistical treatment
%oawe “"“c‘i ©:03IBRO

Subjective interpretation

m 5 ,:“ m— .
O SAD TR0

Correct Marks : 2 Wrong Marks : 0

When a research problem is related to heterogeneous population. the most suitable sampling

method 1s;

2.8 doFdrodo JAH ard JoLIBN 8N (@
gl [

Options :

55213154637.

Cluster Sampling

TR h:.-ﬁ't.l'ifom(}



Stratified Sampling

SE8\¢8 (HBSADHK0

0 &

55213154638.

Convenient Sampling

winired [R8Icho
55213154639.

Lottery Method

el D58

[

55213154640.
Sub-Section Number : 4
Sub-Section Id : 5521311228
Question Shuffling Allowed : No

Question Id : 55213113916 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : Yes

Question Numbers : (11 to 15)

Question Label : Comprehension



Read the passage and answers the questions from 11 to 15:

George Stephenson and his son Robert Stephenson made a tremendous contribution to the
development of railways. George did not mvent the steam locomotive. but he ensured that the
nsights and discoveries. which were beginning fo come together from a variety of sources. were
engineered into a practical machine. In this context. a man of relatively humble origins became one
of the world’s greatest engineers. He was brilliantly pragmatic m ensuring that his son. Robert. was
given all encouragement i assisting the engineering of the early railways.

The passage of time has done nothmng to pale the remarkable achievements of the two Stephensons
(for it is unwise to separate father and son). Their mventive genius was most brilliantly displayed.
probably, during the year 1829-30, but this was surely not the end. They stamped their final mark
on the shape of the locomotive when m 1833 they added a pair of carrying wheels behind the
firebox to produce the first 2-2-2 engine ‘Patentee’. This became a benchmark passenger type in
both France and Great Britain and was built in the Great Britain until 1894. Their final major
contribution was in 1842 when they were the first to provide engines with a link motion valve gear.
This was a fascinating invention, which was so extremely suitable for locomotives that it was still
being used for new construction m the last phase of the great days of steam.
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Sub questions

Question Number : 11 Question Id : 55213113917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes



Correct Marks : 2 Wrong Marks : 0
Both George and Robert Stephenson’s contribution to Railways was

=8 S0 oo VIR BEen TS Feto

Options :

Inumense

Ay :C ! S%l....
55213154641.

Sparse

?%E"&nﬂ
55213154642.

Outlandish

Sgizg T

55213154643.

Impractical

Ex‘ﬁﬁtﬁ-ﬁﬂ"ﬁ:c} =20
55213154644.

Question Number : 12 Question Id : 55213113918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

George in his younger days was a man of

Options :
Wealth

NEVel VA
55213154645.



Hard work only

55213154646. B
Poverty
Fnielcle)
55213154647.
Lowly background

BED Arow VG0 SoTd
55213154648. i

Question Number : 13 Question Id : 55213113919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

George was brilliantly

=5 ‘&uﬁ;:;w% He
Options :
Idealistic
55213154649. S
Foolish

55213154650.



Practical

e300
55213154651.

Selfish

f%vmtﬁa’atﬁacﬁa
55213154652,

Question Number : 14 Question Id : 55213113920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The first 2-2-2 engine ‘Patentee’ became a/ an passenger type in both France and
Great Britam
), 065 Qeofod® 2mtié 2-2-2 abogo DB Pordde B 85055 DoaRe.
Options :
Standard
(ST @R
55213154653.
Enviable
OraD DAY
55213154654.
Routine
SRBTBS
55213154655.

55213154656.



Mundane

Question Number : 15 Question Id : 55213113921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes
Correct Marks : 2 Wrong Marks : 0

In 1842. they were the first to provide engines with a link motion valve gear whichwasa

mvention.

1842 & K;oﬁé;éoéﬁ T8 TiGardre Fmp DS > 18 S0ERQ R Den B0uln Sar
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Options:
Multipurpose
Def ([BEreis=l
55213154657.
Utilitarian
Su@rriso
55213154658.
Multilevel
sapenel ot oy
55213154659, i
Mesmerizing
RdolgemE 5o 87 YoXa)
55213154660.

Sub-Section Number : 5



Sub-Section Id : 5521311229

Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 55213113922 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The speaker and the listener carry with them certain ideologies, world-views. beliefs. likes and

dishikes whichformthe

35, (%8 500 60d T A pirew,
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Options :
Style
39
55213154661.
Aptitude
Neea s &o
55213154662.
Attitudes
55213154663, =500
Views
:e/ \TIPEN
55213154664.

Question Number : 17 Question Id : 55213113923 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
The speaker has to possess adequale of the message that 1s to be transmitted.

5 &R SRl ) \“ 5 Hoow Romofod) #hdod 300 soldennl

Options :

Replies

55213154665.

55213154666.

Reactions

58 ﬁﬁﬁu,
55213154667.

Knowledge

.
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H

55213154668. ~

Question Number : 18 Question Id : 55213113924 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Fluency. clarity and intelligibility of pave the way to effective communication.
598 3020009 ©F NEEE, )38, SEBhen [HepSNosRa gre (HR8eD POEIROD.
Options :
Command
TROD

55213154669.



Channel

Td
55213154670.

Path

o
55213154671.

Expression

w856
55213154672.

Question Number : 19 Question Id : 55213113925 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The effective use of consists in selecting appropriate words and patterns of sentences

while comnmnicating,
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Options:
Language
FR
55213154673.
Crrcumstance
Do

55213154674, =



Idioms

néseto
55213154675.

Connectives

NOTRCTRED
55213154676.

Question Number : 20 Question Id : 55213113926 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Communication 1s sustained and it becomes effective onlyina/an _ ambience.

dendod J0sTed® ord (K80 Prrddodore sob RlspioeiSvisvolly i etavelal

Options :
Intellectual

L858
55213154677. »

Indrvidual

S
S
55213154678.

Clean

DS
55213154679.

Complex
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55213154680.



Sub-Section Number : 6
Sub-Section Id : 5521311230

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 55213113927 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

A car covers a certam distance with speed 60 kmph and returns to the starting point

with a speed of 40 kmph. The average speed (in kmph) for the whole journey is
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Options :

50
55213154681.
55213154682. e

100
55213154683.

52
55213154684.

Question Number : 22 Question Id : 55213113928 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



In a certan population, the ratio of number of women to the number of men1s 6 ; 5. If
the average age of the women is 34 years and the average age of the men 15 32 years.
then the average age of the population ( in years) 1s

28 D0 Z2TFS DT D093 HDDO B3 6 1 5. DO HKE SoHD 34
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Options :

321
55213154685.

33
55213154686.

331
55213154687.

335
55213154688.

Question Number : 23 Question Id : 55213113929 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

‘A’ loses 10% by selling an article. If the cost of the article 1s Rs. 15, then the selling

price of the article 1s (in Rs.)
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13.20

55213154689.

16.50
55213154690.

12.30
55213154691.

13.50
55213154692.

Question Number : 24 Question Id : 55213113930 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Tap ‘A’ will fill a tank in 30 minutes, Tap ‘B” will empty the tank in 3 hours and tap

*C" will empty the tank 1n 4 hours. If all the taps are open at the same time. then time

required to fill the tank 1s ( in minutes)

Pt 'A' 30 Qo) ﬁ‘ﬂﬁs eys05 m a)e0A. erte B, 3 nuuﬁf ers08 cw’@.,f SATOTA
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Options :

17/ 720
55213154693.

Pt S B
55213154694.

420/ 17

55213154695.



390/ 17
55213154696.

Question Number : 25 Question Id : 55213113931 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The missing number in the sequence: 6. 27. 128, . 3130
D (E0eS SoDS Hows: 6. 27,128, L 3130
Options:
529
55213154697.
629
55213154698.
729
55213154699.
829
55213154700.

Question Number : 26 Question Id : 55213113932 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

‘PROFESSOR’ 1s coded as ‘KILUVHHLI'. then *‘STUDENT" is coded as
‘PROFESSOR’, ‘KILUVHHLI" 7T §G S ah2308. @y ‘STUDENT’ Gwé), &6



Options :

HGEUVNG
55213154701.

HGEUWNG
55213154702.

HGEFWVMG
55213154703.

HGEWVNG
55213154704.

Question Number : 27 Question Id : 55213113933 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

‘ROCKET" 15 coded as ‘913564"and ‘LITTLE’ coded as ‘024406’ then the code for
"‘CRICKET' 1

'ROCKET', 913564° T §& Dohadod SHdokw 'LITTLE, 024406 I §& Tohadod.
900~ 'CRICKET' 3308), §6

Options :

3943654
55213154705.

39324064
55213154706.

3923564
55213154707.

3923654

55213154708.



Question Number : 28 Question Id : 55213113934 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Pomnting to a person. A said, “He 1s the only brother of my father’s mother’s

daughter”, The relation of the person to A 15

28 588 HoDE, A o), "w Sof O 50570 BE) ~38 FODH". wond @
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Options:
Brother
PCHENCD
55213154709.
Father
0|86
55213154710.
Uncle
232301 / 9%
55213154711.
Nephew
HSeRts / SeandS 0 HIPHE
55213154712.

Question Number : 29 Question Id : 55213113935 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

The odd one among the following 1s
808 S D&Y, 28 HOFOIS
Options :

Baseball

ﬁﬁf" iy &
55213154713. .

Boxing

zr8yoh
55213154714,

Chess
5580080
55213154715.

Wrestling
d2oh
55213154716.

Question Number : 30 Question Id : 55213113936 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

[

In a cerfain code, “+" mean ‘x’, ‘x’ mean ‘-, ‘~* means /" and /" means ‘+'.
Using these code operators, 16-2+4/16-8x 213

28 A0 ﬁ’r’(ﬁ, '+ 0B 'x'; 'x'®@O® - - @o® '/'; Hbcw
@B "+'. & §6 O &IBP0Y), 16-2+4/16-8x2 WO

Options :

15
55213154717.

55213154718.



2

55213154719.

32
55213154720.
Sub-Section Number : 7
Sub-Section Id : 5521311231
Question Shuffling Allowed : No

Question Id : 55213113937 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : Yes

Question Numbers : (31 to 35)

Question Label : Comprehension



Note: The questions Q. 31 to Q. 35 are based on the following information.

A0S (239700 Q. 31 0B Q 3558 , 308 NrTdo SErdOT G oN.

w

The population, literacy rate, No. of women for 1000 men and percentage of rural
populations of five states are presented m the following table.
D& T 2, ofThd 06, 1000 50O HHO%H DrFe o HOH

3y o
Faom ziwer 760, & 8od S 50800,

States | Population | Literacy | No.of women | % ofrural
Tlfe) | (zaver) | Rate per 1000 men | Population
(Lakhs) | (@8 | (Darde doms | (e 7o

@&o) 6@3] 1000 )000) ATVRAR

A 1500 70% 970 45%

B 2500 61% 951 62%

€ 600 85% 1021 51%

D 400 90% 992 39%

E 850 80% 989 42%

Sub questions

Question Number : 31 Question Id : 55213113938 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0
Which state has the highest number of illiterate people?
AOSTrAnLe @S QOWMED ) T°ladO

Options :
55213154721.



State A
O° 0 A

State B

0220 B
55213154722.

State C

W,

070 C
55213154723, -

State D
7|0 D
55213154724,

Question Number : 32 Question Id : 55213113939 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The total Urban population is
HNEBO HEIED BT

Options :

3044
55213154725.

2806
55213154726.

1725

55213154727.



4125
55213154728.

Question Number : 33 Question Id : 55213113940 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

The number of women population in the state A is ( rounded to integer)

5,

I Wy '-\'6 .- W £ e |
‘A TR0 YO By DODE (SF°Q Do)

Options:

739
55213154729.

761
55213154730.

970
55213154731.

1455
55213154732.

Question Number : 34 Question Id : 55213113941 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0



The total percentage (nearly) of rural population 1s
B0 |JEd 2y 7o (SHST)

Options :

41
55213154733.

45
55213154734.

52
55213154735.

50
55213154736.

Question Number : 35 Question Id : 55213113942 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0
On the overall. percentage of literacy rate (nearly) is

B3NS0 N, L Te0s Bew Fho (SHST)

Options :

521
55213154737.

65.3
55213154738.

55213154739.



70.5

55213154740.

Sub-Section Number : 8
Sub-Section Id : 5521311232
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 55213113943 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of'the following is a low level language 9

& (808 &6° 0 Low Level oy ?
C

Options:
Assembly
{-.—aﬁo;;
55213154741.
Java
e
55213154742.
ADA
=0 =
Gt i QL
55213154743.
e
o,
25

55213154744.



Question Number : 37 Question Id : 55213113944 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Number of bytes in 1 GB 1s

1 GB &°2 bytes © Jogy,......

Options :

1024TB

1024 &o= Téw
55213154745.

1024 B

1024 Bep
55213154746. -

1024 MB

1024 Jorr 2én
55213154747.

1024 KB

1024 36° Bey
55213154748.

Question Number : 38 Question Id : 55213113945 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The full form of MODEM 1s
MODEM D_'JJJE; 6'3%__“51:::

Options :
Modulator and demodulator
Sl Hbukn BSrEBed
55213154749,
Modem mobile
(Tavr]e] E@Qﬁ
55213154750.
Modulator embedded
SrErBed NoB&E
55213154751. =
Moderator demoderator
8008 &SrEDes
55213154752.

Question Number : 39 Question Id : 55213113946 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

.......... are set of rules and procedures to control the data transmission over the internet

2005386 Gir (HFodd T8 Adhdres S0 HEHe Sen....
Options:

IP address

IP &%arad
55213154753.



Domains

DT G@sn)
55213154754,

Protocol

Feo=at
55213154755.

Gateway
55213154756.

Question Number : 40 Question Id : 55213113947 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

NMEICT stands for

NMEICT esre

Options :
Nation Mission for Education through ICT

- - - - 1
JNS XS PO AByEAD (B 02D

55213154757.
Nation Mission for E-commerce through ICT
JHT DT P8 vzl (@ oS
55213154758. ¥

Nation Mission for E-governance through ICT

=

L

38 AT $5 a-riSY)T) (& 0d
55213154759. -



Nation Mission for Entertainment through ICT
JET AT $8 2068850t (e 28

55213154760.

Sub-Section Number : 9
Sub-Section Id : 5521311233
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 55213113948 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which agreement set in target of 5% reduction in carbon emissions against 1990 levels?

58)3 smood 1990 &ow So 8 5 wo dNowred eyl Mgawods e.djoto 207

Options :
Paris agreement
arCR e.dfjotio
55213154761.
Stockholm Agreement
5 Trro adolio
55213154762. = g
Kyoto Protocol
e
o
55213154763.

Berlin Agreement

DO a.D0ko
55213154764. i

on



Question Number : 42 Question Id : 55213113949 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The maim gas responsible for ‘climate change’ 1s

Options :

NDJ
55213154765.

CO;

sHhe & &6

= ey

55213154766.

CcO

sE)m PR
55213154767.

NOJ

2B
55213154768.

Question Number : 43 Question Id : 55213113950 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Eutrophication of fresh water lakes occur due to

$00DE e CrErHERS AATON athrh
Options :
Addition of excessive organic matter. phosphates. Nitrates
o0 Herdo PR, DS JENSM TsLo
=@ Oy T —— (L
55213154769. 3
Addition of only Phosphates
PR SRED Jseo
55213154770.
Addition of rain water
583 A BBeo SO
55213154771.
Drying up of lakes
RDB0en QoberHeo
55213154772.

Question Number : 44 Question Id : 55213113951 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following is not a cause of soil pollution?

3 (808 EE° Jo renardd DO 8o S°?

Options:
Pesticides

[orn soothen
55213154773.



Fertilizers

B0a)ED
55213154774,

Excess salts

@05 eoren
55213154775.

Compost

S’DEB‘ET’-%:
55213154776.

Question Number : 45 Question Id : 55213113952 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The concentration of CO, in the atmosphere is kept in balance through

FES808® CO,MEEn Jseomr ¢oid
Options :

~0O, fixation i photosynthesis

C
88coa2y HodmiS (Sae® CO, P
55213154777. ]

CO, release 1n respiration

TR8avs® CO,Dtbte
55213154778. i

(2]

Carbon cycle

55 S50
55213154779. =



Degradation of organic matter

Eolellaless sa‘mﬂg QPR

e

55213154780.

Sub-Section Number : 10
Sub-Section Id : 5521311234
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 55213113953 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following is NOT an mtegral part of formal education system of our country

HITEER Fodmrad A Jue; 3 —o@” wodmyio R

Options:
Elementary Education
QOoert DS
55213154781. =
Primary Education
[@rE0E D
55213154782.
Pre-Primary Education
PO (PGS
55213154783.

Higher Education

-ru M) \:qu“
55213154784.



Question Number : 47 Question Id : 55213113954 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Approach towards Higher Education should be

Options :

Employment oriented

& vrrldo
55213154785.

Imparting knowledge

DRI B D0z woliodto
55213154786.

Charity oriented

o @Eﬂ;c‘;ﬁo
55213154787.

Investment in human resources

IPRD SdBedt enad
55213154788.

Question Number : 48 Question Id : 55213113955 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The mamn aim of vocationalisation of education is:

S8 N (AeS AR
‘“&:E% Q.-'Dﬁa kE‘JI.?I o é‘EUEJD

Options :

Preparing students for a vocation mstead of knowledge

DLXAH BOPRO DHed WD HEES® Jodhed Tabio
55213154789. ! '

Converting liberal education into vocational education

a8 DD 5‘3@@ D eGS0
55213154790. -

Giving more importance to vocational than general education

RS QST @ DD 250D (EPTERrSER BErto

o = T ) 5 < G

55213154791.

Making liberal education skill based and field experience based

&IPS AL Jyeese iy g urld Y™ Erfovvilevimlovsiate)
55213154792.

Question Number : 49 Question Id : 55213113956 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The purpose of value education is best served by focusing on

Dendie A oFo LD YR Solsbosto oo JBTWeEol
] ) bl [ =¥

Options :
Cultural practices prevailing in the society.
Qaraod® &F) Arok) 85 emrrred ardodto
55213154793.

55213154794.



Norms of conduct laid down by a social group.
2.8 el H%o E-':-E:I 2088 Adhadren ardodto

Concern for human values.

2wt

S Dende D& wolPER

55213154795.

Religious and moral practices and instructions.

SDENBIN DA FSS5DER eororen 0O JVredden
55213154796.

Question Number : 50 Question Id : 55213113957 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Indian Parliament can legislate on matters listed m the State list;

68 RG0S5 TEpdE o0 eore SQIE° Ko o ©0¥oR ApHd o TSR,
Options:

With the prior pernn'ssi-:-u t:-f the President.

TP(5308 Swoliy) ©9dnnss”
55213154797.

Only after the constitution is amended suitably.

NS DSorre orerroll B98I Sond SRS
55213154798. = -

In case of inconsistency among State legislafures.

m@a: Sepe S edoagds e9HW
55213154799. )

55213154800.



At the request of two or more States.

Both Tor wodST) QXN TEre Dgsy W

L= =0

SOCIOLOGY
Group Number : 2
Group Id : 552131184
Group Maximum Duration : 120
Group Minimum Duration: 120
Show Attended Group?: No
Edit Attended Group?: No
Break time: 0
Group Marks : 200
Is this Group for Examiner?: No
Examiner permission : Cant View
Show Progress Bar?: No
SOCIOLOGY
Section Id : 552131184
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 100
Number of Questions to be attempted : 100
Section Marks : 200
Enable Mark as Answered Mark for Review and Ves

Clear Response:



Maximum Instruction Time: 0

Sub-Section Number : 1
Sub-Section Id : 5521311235
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 55213113958 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The hypothetico-deductive model 1s used by:
DOBEYH-DIDOWD 0T BDDTIROHODOD

Options:

Auguste Comte

et Soa%
55213154801. c o

Herbert Spencer

a3l 2o

55213154802.

Max Weber
a‘ijag 205
55213154803.

Emile Durkheim
oand 506, a0
[ o
55213154804.

Question Number : 52 Question Id : 55213113959 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0
Who has published ‘Totemism and Exogamy” m four-volumes on Indigenous peoples

of Australia and Melanesia?
&) DA 00N BT DS DROTHO D TV K0P

Banatn @06 a8’ gudowon?

Options :

Bronislaw Malinowski

BEORS 0O,
55213154805,

James Frazer

g b
55213154806.

W. H. R. Rivers

&5, arw. @b, O
55213154807. e 3

Franz Boas

Po& 530D
55213154808.

Question Number : 53 Question Id : 55213113960 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Who has seen social structure as a model?
PRDTRE DO,HD 28 HBOTTRR IR0 DDOT

Options :



Radcliffe Brown
REED PO
55213154809.

Levi Strauss
3D &P
55213154810.

Robert Merton
Teadd DGR
=] -]
55213154811.

Anthony Giddens

[Slela ) HR,
55213154812.

Question Number : 54 Question Id : 55213113961 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Mead presented the self and the mind i terms of a social process.
a5 (A): £08 e gmesid SO S0 S oS HIA Hsore
Vel

Reason (R): The ‘Me’ 1s the social self and the ‘T’ 1s the response to the “Me’.
o) (R): éa’)g; D) APTSS 98,6000, L3 e Eﬁn‘f)g‘T 5 D@0W.

Options:

Both ‘A’ and ‘R’ are correct
‘A’ soeasr ‘R en Bocsydse DO
55213154813.

55213154814.



Both ‘A’ and ‘R’ are incorrect
‘A’ avoasn ‘R’ e Bootre Do5ey)

‘A’ 1s correct but ‘R’ 1s incorrect

‘A’ D008 B2, ‘R’ Hosesn
55213154815.

‘A’ 1s incorrect but ‘R’ 1s correct

‘A’ Doy 529, ‘R’ ESTolol:4
55213154816.

Question Number : 55 Question Id : 55213113962 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Assertion (A): Emile Durkheim used the term called “Collective Consciousness’.

a5 (A): HDS o6, TS0 * D0 e’ 0 HISOKD SHRPAOT.

Reason (R): Karl Marx used the term called ‘Class Consciousness’.
Sniiord) (R): 26 005, * 5 5% ek 500 SeHARROOTD.

Options :

Both A’ and ‘R’ are correct

‘A’ Sooasy ‘R’ en Bodsodioe D050
55213154817. o

Both ‘A’ and ‘R’ are incoirect

‘A’ soeasn ‘R’ en Bocodire Hoses)
55213154818.

55213154819.



‘A’ 1s correct but ‘R’ 1s incorrect
‘A’ D00 2D, ‘R’ noseso

‘A’ 1s mcorrect but ‘R’ 1s correct
‘A’ Hesesn 20, ‘R’ o0
55213154820.

Question Number : 56 Question Id : 55213113963 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

‘Deep Play: Notes on the Balinese Cockfight 1s the classic example of
GO 3 ] o O wrDS 6P’ @D BOB B HOHEAD SRR

Options :

Postmodermnism

B2R0DTRVOBLTTE0
55213154821.

Metanarrative
ﬂ%sb’fﬁ@ 5500
55213154822.

Commoditization

Eﬁﬁ"ma%aaéédea
55213154823, ¢

Thick Description

BEVO DO
55213154824.



Question Number : 57 Question Id : 55213113964 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match the following:
808 D BBHEIED:

List—1I List—1II
o8 -1 o5 - 11
Sociologist Work
PTG )T i
1. C.H. Cooley a. Human Nature and the Social Order
DaRD.Ewd 0,00 $36 @0k NS b
2. Karl Manheim b.  The Interpretation of Cultures
8 HRd o5 & R0HEHEHS & Bef
3. Alfred Schutz ¢.  The Phenomenology of the Social World
=8 & & & pedoeod s O MRS S
4. Clifford Geertz d. Ideology and Utopia
85 05 0BSRod @of ant*asn
Codes:
&G
Options :
1-a, 2-d, 3-b, 4-¢
55213154825.
1-b. 2-d, 3-c, 4-a
55213154826.
l-a, 2-d. 3-c. 4-b
55213154827.

55213154828.



1-b. 2-c. 3-d. 4-a

Question Number : 58 Question Id : 55213113965 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The mtellectual work of Karl Mannheim classified into:
505 $00PDO BB, BOPDIBDO ) HOBOOBEOD

1. American Phase
A5 g
i1. Hungarian Phase
ae0t® HaS
i11.  Bnitish Phase
8x Od
1v.  German Phase
BED &5
Codes:
&G
Options :
1,11, 1V

55213154829.

1, 111, 1V
55213154830.

1, 11, 111
55213154831,

11, 111, 1V
55213154832.



Question Number : 59 Question Id : 55213113966 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

explored how everyday social expertences pertaining to dimensions of
life-worlds with varying degrees of anonymty
DR HeD B30 PGB Bnbd £D8 -Hocs Swoi)

DODONOERD BHORD Hoaimest eogiTeen BEHBADD SN0

Options :

Harold Garfinkel
éﬂmg rﬁgoéﬁ
55213154833

Erving Goffman
QD05 MPTOD
55213154834,

Clifford Geertz
8982 63
55213154835,

Alfred Schutz
&)@ﬂ& a’pée;
55213154836,

Question Number : 60 Question Id : 55213113967 Question Type : MCQ Option Shuffling : Yes
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Statement-I: Mitwelt denotes the world of confemporaries.
g0 -1 2065dG Haosedioe HHoweR) BRI
Statement-II: Vorwelt means the world of predecessors.
05,500 -1 PEIH edR PH B0 HHOoTSo

Statement-III: Folgewelt conveys for the world of successors.
o5 - [II: PYDG aetoe HHoengy BODAHBNOO

Options :

[, IT & III are true

LIT&IIT en SE= XN
55213154837.

[ & II are true

[ & ITeo DT0
55213154838.

IT & IIT are true

IT & IIT e DTe0
55213154839.

I & III are true

I & IIT eo D&2,00
55213154840.
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The term ‘phenomenological sensibility” 1s metaphorically associated with:
6560 RYBE0" B Do BB HIS HoDoEo BYAoMOD?

Options :

55213154841.



Dramaturgy
ERE0OY

Breaching Experiments

800ob HRFRPeD
55213154842.

Conversational Analysis

DogRD DJDED
55213154843,

Ethnomethodology
ﬂe?f@omme&
55213154844,
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Who among the following focused more on social problems than sociological
problems i marco-sociological research?
808 0 D% p0 DR HOSEHO8 Fodos VAL 508 FdRes

PR SR L) DERSD P

Options:
Tolcott Parsons
tPRH5ES e
55213154845, B
Robert Merton
Daﬂ:}g E:og:%

55213154846.



Karl Manheim

535 5505 RS0
55213154847,

Harold Garfinkel

og6oed ey o8d
55213154848, = -
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Assertion (A): Reflexivity means that members shape action m relation o confext.
i) (A): 0888 e Hee THmD8 Honodoxd i tratoaoido

Reason (R): The context itself 1s not constantly being redefined through action.
aweio) (R): S0 sxdosty aecdore it oagls o s DOcSERBED

Options :

Both ‘A’ and ‘R’ are correct
‘A’ Soacsay ‘R’ eo Bodkds a’i@rﬁs}
55213154849,

Both ‘A’ and ‘R’ are incorrect

‘A’ Soeoasn ‘R’ eo Botodize Hoses)
55213154850.

‘A’ 1s correct but ‘R’ 1s imncorrect
‘A’ STelel-AR=200 ‘R’ Homeso
55213154851,



‘A’ 1s meorrect but ‘R’ 1s correct
‘A’ Deses =20 ‘R’ Stelol:d
55213154852,
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The statement - “soctal reality 1s violated m order to shed light on the methods by
which people construct soctal reality” 1s related to:

DS a0 0 DES HHOFOD D08 DQBOD “g&;}éﬁiﬁtﬂ@&l@ B00t50e000), 83
D900 DB Heen Aoaines ammeR) DGR’ - O GO B8
R0ROOOVDO?

Options :

Breaching Experiments
508 HEHOBo0E]
55213154853,

Dramaturgy
G0
55213154854,

McDonaldization
DEEFTORBAD
55213154855.

Waning Affect
O0H E}E}%
55213154856.
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[n dramaturgical approach, it 1s argued that the elements of human interactions are

dependent upon:
@&’Dé)@ée‘? DS, e DOV @0 BBD emtné Gokpow?

1) Time
00
1) Place
000
R @ "
m) Audience
e
Codes:
S
Options :
1and 11
1 Sooasxn 11
55213154857.
11 and 111
11 Soocsn 1l
55213154858.
1 and 111
1 Sooasa 111
552131548509.

1. 11 and 111
1. 11 Soeaswn 111
55213154860.
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Apart from Goffman, the concept of dramaturgical action was also used by:
(Ppa® SOE00HE, @,aa‘mg) tﬁt_ﬁa EPRD B30 G0N

1.  Harold Garfinkel
D800 RO0SH

.  Jurgen Habermas
&S 06D

i Alfred Schutz
8,6

Codes:
&g

Options :

1and 11
1 Sooasw 11
55213154861,

11 and 111
11 SSoexcso 111
55213154862.

1 and 1
1 Soeas 111
55213154863

1. 11 and 11
1. 11 Soeasio 111
55213154864,
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Who usually develop a postcolonial 1dentity based on cultural mteractions between

different identrties?

D, @%@ﬁ@ E0GE0R, 0y BE HOWY SE SR &b HOHWOBY @?8@305@1

ARG D:H) SRDRC?

Options :

People of Colonized Nation(s)
DD B HB0

55213154865,
People of Colonizer Nation(s)
DOV B DBED
55213154866.
People of Decolonized Nation(s)
DOD DBV BPO DB
55213154867.
People of Recolonized Nations(s)
D2 BOD BPO DBOO
55213154868.
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The book titled “The Colomzer and the Colonized” was written by:
‘0 odad @0k O FoJEE” O 80,5050 PHTR, TYODOD DHEP

Options :

Albert Memmi

E%Q D080,

552131548609.

Aime Ceésaire

20
55213154870. o

Kwame Nkrumah

B30 WHEIET
55213154871,

Edward Said

EaleNo) )

(="

55213154872.
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Pierre Bourdieu extended the 1dea of capital to categories namely:
DAsd B0 Do BHESH Dok DeRme HB HeP HYDOTID.

1. Social capital
SIS SSHO

11. Cultural capital
O BE ROPDO

1. Financial capital
@gé a0TOHDO

tv. Symbolic capital
DEPEE 000050

v. Physical Capital
EPRE HoPeNSH0

Codes:
&G

Options :

1,11, 111, V
55213154873.

11, 111, 1V, V
55213154874,

1, 11, 111, 1V
55213154875.

1 il v
55213154876.
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Correct Marks : 2 Wrong Marks : 0

Match the following:
Bo® O BBHHIR0:

List—1 List—1I
585 -1 288 —11
Type of Capital Example
S0TODO BB0 -£58000:30060
1. Social Capital a. Olympic Medal
APTOEIS TGO 8005 DHS0
2. Cultural Capital b. Bank Deposit
RO ES F0TPEHDO 20,080 Gsaioeatd
3. Economic Capital c. Intellect
BB H0RFHO PS8
4. Symbolic Capital d. Human Relations
285085 SaRHDHO DD VOO
Codes:
G
Options:
1-d, 2-c, 3-a, 4-b
55213154877.
1-c, 2-d, 3-a, 4-b
55213154878.
1-c. 2-d, 3-b. 4-a
55213154879.

1-d, 2-c, 3-b, 4-a
55213154880.
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“The History of Sexuality’ consists of three volumes namely:
'© 3RS e DEIOE T BTt FRPORD SHATDOLVO, O

i.  The Repressive Hypothesis

& OPNS PIBHD

it.  The Will to Knowledge
& 96 o m@{;‘g

11.  The Use of Pleasure
& a5 s Dsd

1v.  Scientia Sexualis
nﬁ)_oéﬁcﬂja E}%@aﬁﬁn

v.  The Care of the Self
& 8bad o R

Codes:
o)
Options:
1, 11, 111
55213154881.
11, 1V, V
55213154882.
1, 111, 1V
55213154883.
1,1,V

55213154884.
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Who has elaborately discussed ‘the repressive hypothesis’?
‘VBODS DOBYE (OO DI JBOTR SYOWOD HBLO?

Options:

Michel Foucault

DS PEE°
55213154885.

Arnold Toynbee
e0® a4
55213154886.

Fredric Jameson

2BE 3B
55213154887.

Jean Baudrillard

S e»BeRd
55213154888.

Question Number : 73 Question Id : 55213113980 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Who has attempted to overcome the division between structure and action?
00,8, TEO 00 DFEd @OIR0EOSE HADBDoL HIL) 7



Options :

George Ritzers

=L 038

55213154889.

Emile Durkheim
DS 506,300
55213154890.

Anthony Giddens

oD HB
55213154891. 2%

Robert Redfield
DamQ Bﬁ?pg
55213154892.
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Match the following:
808 aRBD BEHTEN :

List -1 List—1I
088 -1 088 I
Postmodernist Work
BLOOETVOS0aRR 50550
I. Fredric Jameson a. Stmulacra and Stmulation
G5 BRDS Roxinerg? @0k HandHo
2. Jean Baudnllard D. The Cultural Logic of Late Capitalism
o enfaend & 50056 eoab ey Bt5 DB
3. Jacques Derrida ¢. Philosophy and the Mirror of Nature
D GO Hevod @06 & 2056 8 Jeid
4. Rechard Rorty d. Of Grammatology
oewd GPO6 & (Pavbpodd
Codes:
5
Options :
1-b. 2-d, 3-a, 4-¢
55213154893
1-b, 2-a. 3-d. 4-c
55213154894,
l1-c. 2-d. 3-a, 4-b
55213154895,

55213154896.
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The phrase ‘second modernity’ was coined by:
‘ BOBD SE0D5S * @0 DEBOL0 DO BIRAB0DOGBODT

Options :

Jean Francois Lyotard

280 PpoSPon BADJoesd
55213154897. = 2

Ulrich Beck

@50 B8
55213154898.

George Simmel
&8 RO
55213154899.

Scott Lash

26,65 oS
55213154900.
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Who has said “Sociology 1s a Martial Art’?
‘BB STk 28 DOE BT’ 0D HIO DARTO P

Options:



Pierre Bourdieu
FalevelS eﬁﬁgcﬁw

55213154901,
Erwin Panofsky
20,5 PP,
55213154902.
Luc Boltanski
78 asﬁzgrﬁ?o&
55213154903
Marcel Mauss
Eﬁ}agﬁ BSJ0
55213154904.
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Who has strongly commented Foucault as ‘the last barricade of the bourgeoisie™?
P50 BIRO (WS, DYDDO BEos’ ™ L0 IR0 HH?

Options :
Martin Heidegger

£5700S TBG5
55213154905.

Jean-Paul Sartre

B3PS T
55213154906.

55213154907.



Jacques Deirida
GO RO

Howard Becker

TRaRd B85
55213154908.
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Habermas has written ‘The Philosophical Discourse of Modernity” as a:
bR ‘D HeuPsd BoSE 8 HEdID’ D --------- P 5o

Options:

Sequence of Modernity

BHODEBE) DTVEDO0
55213154909.

Critique of Modern Reason

SEODE BB DI,
55213154910.

Foreword to Modernity

SBRUHESEY BOLDDTE
55213154911.

Foreword to Modermn Reason

B500E TPBOH) B0 BOE0ETE
55213154912,
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Which of the reason was NOT discussed by Habermas with regard to substantive
rationality”

seadatogor DEnEEs Howotod §oo B Ho Rubid 38
SQOTBEBE?

Options :

Historic-Analytical
SOOBE - DJNEPB, 568

55213154913,

Cognitive-instrumental

S0P SPOESPOS
55213154914,

Moral-practical

OBE BSD0RBS, 58

55213154915,

Aesthetic-expressive

POSTRR,E B850
55213154916.
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Assertion (A): Postmodernism 1s often linked with deconstruction and post-
structuralism,

g3 (A): stodBHoSEmN0 SR HIWHO NOASN DTR,POSITRROH
a0kt ®okood
Reason (R): Its thought endowed with self-centric, moral relativist and pluralist
ideas.
oo (R): cod @655 fosa-Sodes, 3B DS 050 oiwime
wéicide angome $oknod)

Options :

Both ‘A’ and ‘R’ are correct

‘A’ Soaasny ‘R’ eo Bodakse DoHD
55213154917,

Both ‘A’ and ‘R’ are mcorrect

‘A’ Soeoasn ‘R’ eo Bodkodize Hosed)
55213154918.

‘A’ 15 correct but ‘R’ 1s incorrect

‘A’ Do0D T2R, ‘R’ Heseso
55213154919,

‘A’ 1s incorrect but ‘R’ 1s correct

A’ Deses 5220, R’ Sielol-d

55213154920.
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Assertion (A): Structure and action are two sides of the same comn.
gRad (A): DO, B0 2 DoeRDS RO,

Reason (R): Structure and action exist independently and not mtimately related.
e (R): 08, <80 HBogore GOBE Bokrow HOAN HRHE

WOR0GRE) F9g)).

Options :

Both ‘A’ and ‘R’ are correct

‘A’ Sooasn ‘R’ e Bodsonr oD
55213154921,

Both ‘A’ and ‘R’ are mcorrect

‘A’ oot ‘R’ eo Bododoe Hosen)
55213154922,

‘A’ 1s correct but ‘R’ 1s mncorrect

A7 D008 B2, ‘R’ Do
55213154923,

‘A’ 1s mncorrect but ‘R’ 1s correct

‘Al deseso 520, R oo
55213154924.
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Foucault used followmg term to signify the dehumanized medical separation of the
patient’s body from his identity.
&0 @?86_5&,0 D008 8 OGS Dnedande AR ALV GVYALY 800 aeilé® S

BOARA0DD Do HH?

Options :



Medical Gaze

BB OS
55213154925,

Simulacra

RTD0RT?
55213154926.

Hyper-Reality

DS OBROB
55213154927.

Cultural Lag
50056 en.b
55213154928,
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Which of the following are all parts of the ‘duality of structure™?
Eoo TBE° DYB t3;085,8,0° DWE,, HOFPY PR HP?

1. Time

5200

1. Structures
Q9,800

m.  Systems
Q&ﬁ}ﬁ@o
¢
1Iv. Space
OO0
? " »
v. Institutions
0
[+

Codes:
&G

Options :

1, 111, 1V
55213154929,

11, 111, 1V
55213154930.

1, 111, V
55213154931

11, 111, V
55213154932.

Question Number : 84 Question Id : 55213113991 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

can be actively reproduced by the actions of agents as an unimtended
consequence of the action.
V0 Q500 0G0 TGO 008, BHOBEHE DHDIRO BP0

EHDEHP HFLDED 008
Options :
Structures
55213154933, OQ,80e0
Institutions
FSlerslae)
55213154934 3
Agencies
Ea@@en
55213154935,
Rules
DOV
55213154936,
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“The Information Age’ trilogy of Manuel Castells does not include:
S G065 38 RS, @ aSHEMHG HE * @fd HaH-H05eDH0 SR .

1. The Rise of the Network Society
& B o D556, IR
it. The Internet Galaxy
& K063 8@%
. Mobile Communication and Society
B0BE B0 IBHS @0k
iv. The Power of Identity
& Db #5 EOHH

v. End of Millennium
D06 89 DDA

Codes:
5
Options:
11, 111. 1V
55213154937.
11, 111, V
55213154938,
55213154939, 1> ML IV
1. 1V. V
55213154940.
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1s a high-level cultural abstraction of space and time.
SIE B0, HEPO DG, SBB FROW RO BE HOLREHO

Options :
Time of flows
AP0 A0
55213154941,
Flows of time and space
S0, e @aﬁaﬁ‘&@)
55213154942, =
Space of flows
Haese) DOIO
55213154943,
Flows of Cash
OG0 wajen8e)
55213154944, =~
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Critical Sociology normally tends to favour of:
DBOG,TRE,E HBPBPRO PEROHBOMTR DA HEOBEROOTR SO0

Options:

Qualitative Methods

(0ERB,5E DEB0e0
55213154945. iz

55213154946.



Quantitative Methods
DOBDIERB,E DLIBOO

Mixed Methods

BOFO DB
55213154947.

Historical Methods
ROTPE,E DB
55213154948.
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1s imagining yourself to be i the position of the person whose

behavior you were seeking to explain.
D0 HHTDIS L) D0 DE e Mo, 8 H.8 DY, HAS® W0
“ D o Y D 2 [} —Bm

oo &irpocHeSmR) @0t

Options :

Looking Glass Self

2083290898 &30
55213154949,

Phenomenological Reduction
BT SO
55213154950,

Generalized Others
FRCREHE RBEOO

55213154951.



Verstehen
@Q@?H)é 08,
55213154952,
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argue that there 1s no basts even for rulmg-out some knowledge as being
untrue.
& 86) EpveR), 506 OTRHO GRA0TENE Heo Bd DB GRRT) P

Options :

Empirical Postmodernists

VERDE 330D OBOTE0D
55213154953,

Logical Postmodernists

&0, B &35300TND0B5a70L300
55213154954,

Epistemological Postmodernists

PR SGODTROOBOTLI0LD
55213154955,

Psychological Postmodernists
BOPDPOE SEODTRDOSTTO

55213154956.
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In which of the following book, the deductive approach reserved the process of

mduction.
8od B & YBoS? DS DRG0 BB HEAO HBBTIROR

Options :
The Structure of Scientific Revolution
& P, 56 &9 PodBDHE OHRN®
55213154957.
The Logic of Scientific Discovery
& 28 ¢9h DoLDHE BHBEDHO
55213154958.
Reason and Revolution
Had o0& TR
55213154959,
Science, Technology and Society
R, BReE ©0& VDD
55213154960,
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1 merely a list of all the relevant sampling units m the population.
OB D06 &) HowoPE DHireme AL ER.

Options :

Universe

DT0
55213154961,

Sampling Unit

2OROH oRDES
55213154962.

Sampling Frame

POoPOH DHE
55213154963

Sampling Error

BOROH BHWO
55213154964
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Wherein the sampling frame divided into groups to ensure representative sampling?
oD, oYohHo 5HocI@RNS @0HoH DiEH Damipen® DejBosEo
DOLEB B0E00?

Options :

Simple Random Sampling
oD AdTRGY S 00O

55213154965.



Stratified Random Sampling
2EB00 dBRGDE P0Hob
55213154966.

Systematic Random Sampling
e b=}
B0 ARGHE S0Hoh
55213154967.

Snowball Sampling
Jged OHOH
55213154968.
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In case, a iterviewer does not have predetermined questions to ask 1s called as:
8 Y, 25 RODER 06 G55 BNOENP DYCNOER BETHORD Hgeo

Sedbond, DD HaD HeodetD.

Options :

Unstructured Interview
RDTR,EPB,5 ROOIV; 4
552131549609.

Structured Interview

ﬁ)@ﬁfﬁjﬂﬁ quéadjaéﬁ
55213154970.

Semi-structured Interview
BD-DREFB,E ROV, 4
55213154971,



Telephonic Interview
E5705a0068 OB, o
55213154972.
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“The Making of Men’ of Mac an Ghail illustrated the main features of:
DB o P3RS @s,* & 8oH &P D Ho HPH OFEROL BLROODOD

Options :
Critical Ethnography
8
DBG,708,8 .:.:}%}rjq}
55213154973,
Radical Ethnography
085S HSBGD
55213154974,
Auto-ethnography
g0 03B5H
55213154975,
Conventional Ethnography
FPOHRAD HSBEGH
55213154976.
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Content Analysis broadly classified mto
508305 D @D DRV DR JBOTR BeDGOTP SOBEOOTDBOD, B

1. Formal Analysis
DS Dien

1. Informal Analysis
ORDADS D3t

. Thematic Analysis
a8y o

iv.  Categorical Analysis
Deets OB Ddies

v. Textual Analysis
i, Do
vi.  Audience Analysis
D0 ddem
Codes:
o
Options :
55213154977, 1» 1. LV

55213154978, 1, 11, 1L, 1V

55213154979, 1» U1, V, V1

1, 111, 1V, V1
55213154980.
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Match the following:
808 @& BBDBTIDW !

Tist—1 List —1II
i | o8s — 11
a [ ]
Statistical Test known as
HEF0s ‘o‘f}ég DO
1. t-test a. Test of Variance
B- 565 0BG DO,
2. Chi-Square b. Test of Relationship
g-c0p,50 PoROGRe DO,
3. F-test ¢. Test of Difference
aSod- DO, oo OO,
4. Correlation d. Test of Association
EIDOEIOLO OB, HOG
Codes:
&G
Options :
1-a, 2-b, 3-c, 4-d
55213154981,
1-b. 2-¢. 3-d 4-a
55213154982.
l-¢. 2-d_3-a.4-b
55213154983.

1-d. 2-a. 3-b, 4-¢
55213154984,
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Assertion (A): The results of case studies are to be generalized.

gpa5d (A): Bobe 5Pmeoito AEROBER0TD)

Reason (R): The results of non-probability sampling are also to be generalized.
ooy (R): H0ERRE0 HRSA PO 506 EBSO0I)

Options :

Both “A’ and ‘R’ are coirect

‘A’ sooasy ‘R eon Bocadoe DOHD
55213154985.

Both ‘A’ and ‘R’ are incorrect

‘A’ Soeasn ‘R’ e Bodowoe Sosen)
55213154986.

‘A’ 15 correct but ‘R’ 1s incorrect

‘A’ D008 2R, ‘R’ Ho=eso
55213154987.

‘A’ 1s mncorrect but ‘R’ 1s correct

‘A'pomesn 5200, ‘R’ Slelel:d

55213154988.
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Cohort study is primarily a part of:
8505 e5,a0H0 SRFSRBOTR BOSE 28 gR5oT

Options :
Cross-sectional studies
DB TDE i), 050a30e0
55213154989,
Panel studies
FR.od 55,500
55213154990,  © %
Longitudmal studies
&Qﬂmﬂé OF,CTOT20
55213154991.
Quasi-Experimental Studies
VLY DTS . CBORT0
55213154992,
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Assertion (A): Theories are distmet from theorems.
eoedd (A): dapomeen Hpos HAJMS BoE HIHINID

Reason (R): A theorem 1s a logical consequence of the axioms while all theortes
are not generalized facts.

iiosd (R): Pommoso edd YapodS granse @0, 5 HOmE0M Bt
008 &) iposen RGeS amommen 59

Options :

55213154993.



Both ‘A’ and ‘R’ are correct
‘A’ sy ‘R eo Bodkidre oD

Both ‘A’ and ‘R’ are mcoirect
‘A’ Sooasn ‘R’ @0 Bocodire Hoses)

55213154994,
‘A’ 1s correct but ‘R’ 1s mcorrect
‘A’ Ho0D T2, ‘R’ Hosecn
55213154995,
‘A’ 1s incorrect but ‘R’ 1s correct
‘A'vposeen 020, ‘R’ STelol:
55213154996.
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When two or more variables are associated but not causally related 1s known as:
Gotd) B0 @08 508 80, & cSsoadde &t Howogo @iH B8,

ROROGRR) BRVDOGRIOTE DERY D00kR) P

Options :

Positive Correlation
0BT P00 0
55213154997.

Negative Correlation
DBBEPRO DIBDODOZHO
55213154998,



Neutral Correlation

L W S W

BED VaPVODOLHO
55213154999. ?

Spurious Correlation
OFTRODE VRLODOLO
55213155000.
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Participatory research methods were developed by:
gRORE, DOBID DRBED DO RYQPDOTIDEON P

Options:
Robert Redfield
oob 365H6
55213155001. o =
George Ritzers
&9 088
55213155002.
Robert Chambers
DBEJQ aaéoa:ng
55213155003.

George Ramsay

abg TR&0D

55213155004
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The concept of Relative Deprivation was imtroduced by:
PDE, TR0 ERDHE0 DOSA0 DO

Options :
S.A. Stouffer
aoOR. D. @5’35
55213155005.
Alvin Toftler
@&)aﬁﬁ @@5
55213155006.
Wallenstein
TD a0
55213155007. s
Steve Jackson
25 5D
-]
55213155008.
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Accordmg to Castells, can often be a means of local empowerment and

community renewal.
3;5?06 2300, B8 508 DD DS WROZVES aNOAN DA )G
B L) (6} [A]

ARGRTPEITR BHEN WD@E.
Options :

Artificial Intelligence

gB®o D5y
55213155009.

Nanotechnology

PPOTROE
55213155010,

Renewable Energy

DHOZREE S8
55213155011,

Information Technology

ROHEIHS SRS
55213155012
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Wallerstein argues that the process that produced a world-system made-up of:
S $8A &5 Foo-GT 688 Forsd wB60S oD ?

1. A core
205 gOQEO

1. A semi-periphery
28 BD0T)

1. A concentric periphery
&8 BofH8 @0

iv. A periphery
25 @0t
Codes:
S

Options :

1,11, 1V
55213155013,

11, 111, IV
55213155014

1, 111, 1V
55213155015.

55213155016 and 1v
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Who have seen globalization as an economic process with a lmear progression and a

cleatly defined endpomt?
oDt e igddain HIHB DO PHOM AEDOLHE SR
R0 Bl S8 GSHm St SR P
? 9 B¢
Options :
Hypermodernists

@& eHODEITE00
55213155017.

Hyperglobalizers

©8 HDODBI
55213155018,

Hyperrealists

Eﬂ&ﬁaiﬁﬁé&ﬁéﬁﬁﬂﬁ&&X)
552131550109.

Hyperrationalists

& BPBITE0D
55213155020.
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Find-out the median from the following:
x =10.11. 8 %8 10.12.15. 13.11, 12

o0& T»& Hoodk BoLHIBO BroS?, 08
X =10 11§98 10 12 15 13 11 2

Options :



10

55213155021

Il
55213155022.

12
55213155023,

13
55213155024
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India’s Daughter (2015) 15 a documentary film directed and produced by:
KoBasEd @b (2015) e @giiobd VEdS dEEEY,5HE0 HP0DoD

Options :
Jim Ankan Deka
25 ©oBD BT
55213155025.
Leslee Udwin
LSRR
[nr
55213155026.
Rajesh Talwar
Teds S5
55213155027.

55213155028.



Richie Mehta
o5 Do
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Millennium Development Goals set by the United Nations (UN) in:
0E0,0008 DHDAN0 VPO VT HTED WD HOBEVO :

Options :

2000
55213155029.

2005
55213155030.

2010
55213155031.

2015
55213155032.
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Assertion (A): Caste 1s always a closed and endogamous group.
gD (A): B0 gy &8 DOBIDS, SOBYTEP DR

Reason (R): Clan 1s always open and exogamous group.
o) (R): Fdo weib ) & (B30, eldregmeie Haeieo
L ) o o

Options :

Both ‘A’ and ‘R’ are correct

‘A’ Sooasn ‘R’ eo Bodkdioe 005D
55213155033. =1

Both ‘A’ and ‘R’ are incoirect

‘A’ Soeasn ‘R’ @0 Bososioe Do)
55213155034.

‘A’ 1s correct but ‘R’ 1s incorrect

‘A0 220 ‘R’ HDesedo
55213155035, =

‘A’ 1s mcorrect but ‘R’ 1s correct

‘Aeses 2290, ‘R’ STelols
55213155036.
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Matthew Goldstein has noted that honor killings were encouraged in:
IGHm, fiﬁ&%}mﬁ D) BoBL0 DY, G ‘@&g&ﬁoém@cﬁoﬁ) Ha000 00
Options :

55213155037.



Ancient China
D DR

Ancient India

DD gREBL S0
55213155038.

Ancient Rome

Do BP0
55213155039

Ancient Egypt

SO e

55213155040,
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Henogamy 1s a kind of social custom practiced among:
RPN O B GEQD PSS BER00 DO k) BBRS® GOo..

Options :

Vakkaligas

058, Hieen
55213155041. e

Lingayats
DolRcbosSoen
55213155042

55213155043.



Nairs
ATRCOODD
[l

Numbudiris

0OaTED
55213155044. =
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‘Open Marriage: A New Life Style for Couples’ was published by:
GRS S00S : & o, 8P oS 6 EHE* 1 HeoBerPOOVOD

Options :

Morming Glory Zell-Ravenheart

D700 PO BS TPADTE

Lo L]

55213155045,

Nena O’Neill and George O’Neill

D &HOE oo PG &S
55213155046.

Bertrand Russell

Bepol od
55213155047.

Magister Peter Gilmore
50306 Htob BEDIE
55213155048,
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Who denies that neither space nor time 1s substance?
Ale Boe 00 Dokt a’maq;en DO @ VOoBoRD T

Options :

Mc Taggart

08 e»38
55213155049,

[eibniz

Beo s
55213155050. 2

Immanuel Kant

RDR,WVO0S 520E5
55213155051,

Isaac Newton

OPE BHIROD
55213155052.
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‘Dasein’ 1s a term associated with:
BHS @ H50 BOSF HooLo EHASVOD



Options :

Philosophical Presentism

aa&q.éé cﬁqaa-ﬁaacﬁo
55213155053,

Existential Philosophy
RS, SS,PHRO
55213155054,

Psychoanalysis
BOFRPOE DZHed
55213155055,

Deconstruction
DRT2,E30
55213155056,
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Who felt that the 1dea of the ‘nation” 15 relatively new and 1s a product of various socio-

material forces?
‘P &0 @O ADBEOTP DISHRHE, VD DD Fesweds - FPRY Aige

B3RP GPDOWORD ?
Options :

Benedict Anderson

arﬁﬁg o000
55213155057.

55213155058.



Howard Rheingold
TODY LOOFPS

Barry Wellman

£308 DH0®
55213155059.

Melvin Webber

2095 D5
55213155060.
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Who authored ‘Inside WikiLeaks: My Time with Julian Assange at the World’s Most

Dangerous Website™?
aPnE 9868 : B0 B A8 &S 03 off & $8§ Ae doadh S

50 5008 BB7

Options :

Sanmu Ben Gharbia

08 B 0bTEI
55213155061.

Alexey Navalny

B8 HD
55213155062. @ g

Daniel Domscheit Berge

OIS 50D, ¢5 55
55213155063.



Julian Assange

Do ®APROD
55213155064,
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Data Activism demands for:
53048 wREDB0 DO STL BHR0E WO :

Options:

Preservation of Data

Cﬁ%ﬂﬂﬁf a’iadgea
55213155065.

Open-Sourced Software
BB BSOS Jo)DO
55213155066.

Copy Rights and Patents

HBoé Booasn Td B, e0
55213155067.

Royalty for Data Recovery

S&ROF  {)Does mc:ﬁa@m
55213155068.
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When a website, e-mail server, or computer system 1s subjected to attack by malicious
hackers 1s known as:

28 DD, B-D0000E0 500, B BB 57 SH0BER00 By PGS
$OTDGERR, HIOD HEVRD.

Options :

Cyberextortion

a6 S8
55213155069.

Internet fraud

e:oéc:ﬂge:: RDIPD0O
55213155070.

S }-’herwal‘fal‘e
b dsnso
[ - T o=
55213155071.

Cyberterrorism
b Sgoao
55213155072.
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‘New global cultural economy has to be seen as a complex, overlapping, disjunctive
order” was stated by:

A G0t 0B 85 LI b 508, sBmEY, DIFHROS B0
<58 O Dt DO, L.

Options :

Dilip Gaonkar

OdDH Rross
55213155073.

Partha Chatterjee

SRS 58
55213155074, i g)

Arjun Appadurai
OB DIRLOD
55213155075.

Depankar Gupta
HEROEE oD
55213155076.
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The study of signs and symbols and their use or mterpretation 1s known as:
0050, YO Ea0H0 E0dAW 8 GOS0 ln R0 D0kRD

Options :
Linguistics

SPPRO
55213155077.



Symbolic Interpretation

DHTPB, TR0
55213155078.

Semiotics
D080, A50H PO
552131550709.

Phonocentricism

3D BOLBBIRESO
55213155080.
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Choose the correct answer based on the two statements Assertion (A) and (R) (Reason)

aiven below :
&8 808 anidod pdD (A) oo (R) e emtiore Hoadib REmEORRR
DOT0FPE0

Assertion (A) : Nationality usually denotes a set of people mspired by a feeling of unity
based on common race, language, religion, culture, geographical
compactness, common political aspirations and historical development.
DB (A) : BB 030 getrom &S &, grt), $080, H0wy®, (PFES
D05 (908, iy, B e wemoifen, TOFRRR Sy B
SERUDE O, DY@ eRiic HERDE0 DoDRE HEvdDRIs
RREROE)

Reason (R ) : Most of the factors associated with nationality are based on burth. Feelings
of nationality separate one set of people from other simular sets.

i) (R) : B Soldl &, cweo Ten a1, DRSO SR
asokean. BaBA5EH GRaRen B & HiEe D) S Hee

08088 Dt B0,
Codes :
e
Options :
Both (A) and (R ) are correct
(A) 0050 (R ) Bodm HORDHD
55213155081.
(A) 1s correct but (R ) 1s wrong
(A) DORDHD 502,(R ) HO@BoDH 0650
55213155082.
Both (A) and (R ) are wrong
A) Sooaso (R ) oo Hocihad Soa)
55213155083. ( ) ( ) S =

(A) 1s wrong but (R ) 1s correct
(A) BORBO 50e (R ) BOBDBO

a_

55213155084.
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Which of the following are the essential principles of Liberal Democracy?
88 8ok aB6F Rgemaingd PEmdRgn0 (906 BBREM) BS, HEed e

Ty

1. Govemment by consent of the people
D8O IR0 8 HE0S;0 Hovky BaSHEo

1. The masses governed by elite
B Y0 ) D@0 PHOTIENSEO.

. Public accountability
DBOB) ERGLBANBOMN GOBEO

iv.  Prevalence of majority decisions over mimorities
oo Deol Hae AEAROR) BHRBOE

v.  Constitutional Government
0oER,00 mtg@ﬁi 000

Options:

1. 11 and 111

1. 11 Soecsn 111
55213155085,

1. 111 and 1v

1. 111 Soeas 1V
55213155086.

1. 111 and v

1. 111 8050 V
55213155087.

55213155088.



1.1vand v
1. 1V &ocsn V
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T.H. Marshall m his “Citizenship and Social Class” analysed the concept of
citizenship m an / a:

&. IS, a‘na(ﬁuqe‘? 3 “DBadhd @0k Mo Bo o 0K B0
i gPaDn 88 B0 Bendodd & tyEHodt dIhoiEo BONOD :

Options:
Structural functional perspective
RO,B -BTRGIRE SBHO
55213155089.
Pluralist perspective
aJ0ETE HELHO
55213155090. e
Evolutionary perspective
DOEPIDTB.E L5550
55213155091. 2,5 328
Marxist perspective
DRz, R FBHO
55213155092.
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The concept of “Iron Law of Oligarchy™ was propounded by :
" D00 @ 89 ©ORe,” OF FRHH IBIPOODHD DBEO?

Options:

Antonio Gramsci

053D 3D0e TPAY
55213155093,

C.W. Mills

2

Q. G . E)ag
55213155094.

Robert Michels

oo PG
55213155095. =

Alexis de Tocqueville

oBED & 289

(ar]

55213155096.
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Match the following :
85 808 DB BoDBDD

List—1
o805 -1
A
Environmental Issue
DRVE VOLDOY VaD,

1) Movement against the destruction of forests

and prevention of land degradation
©BHo D08 HBTBO

$00050 gimEes DaedHL
HODORODD @kyH00

2
R

Movement against Industrial Pollution

OO0 0], HHOE BLiHo

3) Movement against the big dams and

ecological balance
@8 Dt HBJRe @O

HBS6000 HOU SRR H0E,BE

DODORODD A0
4) Movement against Tourism

broE0 DHGEE HBTE0Tm SEAD &0

Codes :
5Gen

Options:

55213155097.

55213155098.

55213155099.

55213155100.

1-c, 2-a, 3-d. 4-b

1-b. 2-d_3-a 4-¢

1-b, 2-c, 3-a, 4-d

1-d, 2-a, 3-b. 4-c

List—1II

285 11
Environmental Movement
E’.")D?aa’)tﬁea fbi%a’no

Ganga Mukti Andolan
tiore H08 sGPED

Narmada Bachao Andolan
D reRd? e8PE0

Himachal Bachao Andolan
IpRsd naRrd alPdR

Chipko Movement

D, B0
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Choose the correct answer based on the two statements Assertion (A) and Reason
(R) given below :
B0t il HBD (4) ovasn i (R ) o egroore 186 Simpmy
@00k

Assertion (A)|: A social movement 1s a deliberate collective endeavour to
promote or resist change

HRSH (4): Sty dPPOSEo S Fatroci@DS Aeeimes Hisao
& DR0]) HADEO

Reason R) :  Objectives, 1deology, programmes, leadership and organization

are imiportant components of social movements.
o) R) :  &Qmen, gredepeo, S 5:men, mabE0 Hoa e

PR @L0e) (B0E, DG DePREY.
Options :
Both (A) and (R ) are correct
(A) sooasn (R ) Bowam w30
55213155101.
(A) 1s correct but (R ) 1s wrong
(A) ©go& 520 (R ) wosec0
55213155102.
Both (A) and (R ) are wrong
(A) 500050 (R ) Bodm wos)
55213155103.

(A) 1s wrong but (R ) 1s correct

(A) dozec0 520 (R) @E8oe
55213155104, o
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Choose the correct answer based on the two statements Assertion (A) and Reason
(R) given below :

8ot maned pRD (A) Soain dré) (R ) & egdore 56 Hammpmd
00080k

Assertion (A) :  The present Panchayati Raj 1s a decision making body and rules over
the governance of the village

B85 (4): iy Howand o 630 &5 DYSROERS K0P S 0
Bt DO DAV,

Reason (R): It s obligatory on the part of centre as well as the state to provide
adequate funds for the Panchayati Raj Institutions to enable them to
function propetly

) R):  Doaeadd oof oge BB ier A0S 805,
oa‘aj) D600 VDN APV B DOVD EREB BHATOD

Options:

Both (A) and (R ) are correct
(A) So0as0 (R ) Bodr w860
55213155105,

(A) 15 correct but (R ) 1s wrong

(A) g0 520 (R ) voszean
55213155106.

Both (A) and (R ) are wrong

(A) S0oasw (R ) Bowre bosey)
55213155107.

55213155108.



(A) 1s wrong but (R ) 1s correct
(A) So=eco 520 (R) w80
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The term “Tron-triangle” 1s used to denote the following aspect :
“ o - BghaEn T o) DR 808 BE BOD HYOSERE TR

Options :
Economic Crisis
395 Hogheso

55213155109
The forces responsible for the degradation of environment
DOR,BE SaBE) GRS BRI, TEQe0

55213155710.
The forces which contribute for industrial development
SO0 D8 ER g, 50

55213155111, -

The crisis that emerge due to poverty and unemployment
DHOBO, DBOEELHO &0TO0R Be8ma3%80a, wogfeio

55213155112.
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Arrange the following Rural Development Programmes i a sequential order on the

basts of the year of its inception :
&poogs HoxEL0 epsome ot DB @g)mméég DT b St

Bi008° dlgols
. National Rural Livelhoods Mission
Bt o A5 P50 S
it.  Sansad Adarsh Gram Yojana
w5008 @L58, TPioed D50
1. National Soctal Assistance Programme
BB Jodwes Hida 50,500
iv.  Pradhan Mantri Gram Sadak Yojana
SERBE08 (R W6 i
V. Pradhan Mantrt Krishi Sinchat Yojana
Deeanod Bl Howon B0
Codes :
%
Options:

i1, 1, 1v, v, 11
55213155113,

1, 1v, 111, v, 11

55213155114.

1, 111, v, V, 11
55213155115,

i1, 1v, 1, 11, V
55213155116.
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Which of the following research work has mamly focused on the kinship
termimologies and usages covermg most of the linguistic — cum - cultural regions of
India ?

8o D0FTHOEP HE HEHOT REBRI0EHD GRP-IARE- R0, BE 0TV

5e0a) B0 0GB, DHBRL) HOAN B BIDRPOD Gija) DECE.

Options :

S.C. Dube’s Indian Village

C50R.R0.57RE B0, REBIRS HES
55213155117.

Irawati Karve’s Kinship organization in India

DOTRHS S0, CBWE, 8NP 8EJFRS KD ROBTT
55213155118. ]

T.N. Madan’s Fanuly and Kinship in India

B. 508, DS BG, RO @0k BSRD 8D ROBASP
55213155119.

A.C. Mayer’s Caste and Kin in Central India
5.2. Joc0b BwE, F!YH @0k 85 ad dokd xodase
55213155120.
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8. Match the followmg :
808 el BB
List-1 List-1II
s - | o5 - II
Author Book
ofalenii) {iopo
[. KL Sharma a. India’s Changing Villages
8008, 45, KOBASID Boeoh oEL
. Yogendra Smgh b. Studies in Agrarian Social Structure
aiiog bof 6% &b eroan’ 67 56
. Andre Beteille ¢. Social Stratification and Change in India
0 B8 i) @@Eﬁaﬁé @06 o8 &0 ROBASP
. S.C.Dube d. Social Stratification m India : Issues and Themes
AR, . twd) ABii6 PBYHHS &S olasn
BB @06 &)590
Codes :
4
Options :
1-b, 2-d, 3-a. 4-¢
55213155121,
1-b. 2-a, 3 -d, 4-¢
55213155122
1-c, 2-d, 3-b, 4-a
55213155123,
1-d, 2-c, 3-b. 4-a
55213155124
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82.  Match the following :
808 DD BBHBOTIE0 !

List—1 List—1II
085 — 1 ais — 11
@ @
Theory of Social Change Sociologist
oismess Htsy HEROBO e TR
1. Evolutionary theory a. Talcott Parsons
DOEFPD0 DEVOBO éxem, 65 SPOD
2. Cyclical theory b. Karl Marx
<S8a%o OEROBO 50 5000,
3. Functionalist theory ¢. Oswald Spengler
DBRBPL DEROBO e DO
4. Conflict theory d. Auguste Comte
D08V, £ Rposo &0y 59N
Codes :
8
Options :
1-c. 2-d. 3-b. 4-a
55213155125,
1-b, 2-c 3-d. 4-a
55213155126.
1-d. 2-c. 3-a. 4-b
55213155127.
1-b. 2-d. 3-a. 4-c
55213155128.
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The theory of Animism was propounded by :

D0R8,50085 DEROFR), HBIRHOWOH DD 7

Options :

R.R. Marett

e3D. e36. 572085
55213155129,

James G. Frazer

a8y . pad
55213155130.

E.B. Tylor

x. . 8ob
55213155131. =

Max Muller

EtmggeﬁaaeﬂE

=

55213155132,
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Which of the followmng are the features of Totalitarianism?
58 808 B EPHOBOANO (DO Tr,0) B, efwen HP

1. Gives importance to the individual. rather than the state
02,0 B0 et Doeoog) B @igtso

1. Centralization of power
@00 S0H50H
m. It 1s based on the unquestioned obedience to the law of the state
B0 ot <SP0 HAODHED DPAS Hotd BERsHE wokoe)
iv. Itis based on the principle of reason
&6 Woee) Feeee) S0t eRHE Gokoe)

v.  Believes in one party rule
&5 08 e Lot B, 50 EYANOM0R

Options:

1. 11 and 1v

1. 11 500Gs0 1V
55213155133,

1. 111 and v

11. 111 S500G50 V
55213155134,

1.1v and v

1.1V 500a50 V
55213155135.

11, 111 and 1v

11. 111 S00a50 1V
55213155136.
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Which of the following statement 1s incorrect ?
B8 800 DA PHDHOHS HODHO FOD DO T

Options:
Marriage bond 1s enduring
Do LOPHO DOBBAIDD
55213155137. =
Marriage does not require social approval
DTPPOE PDTeE ©HOIOH ©DDB0 B
55213155138,
Marriage aims at social solidarity
DPRO ARIDTeRE ﬁogwa:amg OB, ;O BEOCT00L00D
55213155139,
Marriage regulates sex life of man
DIRERO BEO DG, BoHE LD DAOLH0L
55213155140.
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Which of the followmg statements are correct ?
80D HRMSHOT 56D HOP

1. Caste and class are the two main types of stratification. Both these systems provide
an opportunity for vertical social motility
5000, 3o 665 G, Dot 9910 BeRen. B8 Both Sigen BB
s (B EeBE) @HFDR, 58w,

it Uniform legal system and modern education have contributed to bring about a change
n the caste system
SR S G55, @05 D, Boe 5900 iy Biosmisdd Gso
DRI,

. The processes of Sanskritization and Westernizaton have contributed for vertical
soctal motiblity m the caste system
Soity B 50005 a8t HEcter e 6" AiHbaD Aiimess
(B Bosn BrnBioe@ns il wmow.

iv.  Caste represents a harmonious division of society based mamly on division of labour
and occupation
500 3 Defd HOdD HB eEEsorP Jare) DgEociE0 BON0R.

Options :

11 and 1v
55213155141, L1 S0OD 1V

1 and 111

1 $00csn 1il
55213155142.

1.11 and 111

1. 11 So&acso iil
55213155143.

1. 111 and 1v
1. 111 so0csn 1V
55213155144,
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According to R K. Merton which of the following 15 not a form of Deviance :

8. 8. 2GS HBPvo, B Soa TBS® HSeH0 DWE, Lo 20O HHGT

Options :

Ritualism

330 a3R550
55213155145.

Retreatism

Crle Jet-velole!
55213155146.

Rebellion

HCo0em»eED
55213155147.

Rationalization

RBIDDHESeD
55213155148, =
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Which of the following statement 1s incorrect?
58 8080 THS? HOTD aVFVH0 DT



Options :

Norms constitute an mportant element of society. However, norms are not essential

for social life
Daioegen Dm0 GG, a’mﬁ%@é 207EROT0. @:Q}Jﬁ)@)@?)& {sh0ee0

et domdd SILEONDD Fo).
55213155149. B
Norms help the maintenance of social order
B)RToEPEN AoI0ESE BR00A0 DOBSAe0.
55213155150.
Norms give cohesion to society
DDIEFPEN  DDTEDE HDOCDINRR), VOO
55213155151.

Norms help for self-control
DToemoen Ha% -DA0BELE S5 a0
55213155152.
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Which of the followimg Sociologist / Anthropologist has defined “Culture as that

complex whole which includes knowledge, belief. art, morals, law, custom and any

other capabilities and habits acquired by man as a member of soctety”.

58 800 w0d* & HiiraERds | SmidERds  go, Dm0, B,

fisoen, <3ig0, TR0 DO D HELAM B8 D0 S0 0

Aweoce 00 DO eomey H03H HaED trddy Hob®” ed dsMoE B0 :
(R3] ™ o) i

Options :

55213155153.



Bronislaw Malinowski
PO HOOFSR,

A R. Radcliffe — Brown

.38 EED FO
55213155154, =2 &

Edward B. Tylor
D0 . B30b
55213155155,

Graham Wallas

(RRD0 EROD
55213155156.
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Choose the correct answer based on the two statements Assertion (A) and Reason (R )
g1ven below :
805 ed HAG (A) oaso P (R ) o epsom KO HErmm
Sleraviciele]
Assertion (A) : Culture provides knowledge which 1s essential for the social and
intellectual existence of man
DBWSH (4) : D0D ETER) BORKOD, B8O FRDHD W08, iiwess, TGP
&DBE @5LBEDDO.
Reason (R): Culture exercises a great influence on the development of human
personality
oo (R ) : 0%, 5055 ooy oxpRd 7, Sigman Smhioon

Options :



Both (A) and (R ) are correct
(A) s00c50 (R ) @0 Botér S35

55213155157.

(A) 1s correct but (R ) 1s wrong

(A) S8 (R) S0z
55213155158,

Both (A) and (R ) are wrong

(A) S00as0 (R ) en Bowi woes)
55213155159,

(A) 1s wrong but (R ) 1s correct

(A) dozetn (R) D505
55213155160.
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Which of the following are the characteristics of Institutions :
806 aoéd ‘.ﬁotge) B0E, egmee D8 P
1. Institutions are standardized norms
‘Kno‘cgen DS Béentn
1. Institutions are the organizations to perform certain economic activities
ﬁo‘%&nléag @gé Eﬁ%ﬁ@éﬁ&)nﬁo mtﬁégoffl)r‘i@ aj?a’)‘rgen
mi.  Institutions are concrete, visible and tangible things
Sogen GRS, GFSE SO §1,baFeD aijaines
1v.  Institutions control the human behavior
“n’no"n@)a) ) Pl DAOBRON
v. Institutions are relatively permanent
d0igen PDBEOM @D



Options :
1, 11 and 111
1, 11 &00cSw0 111

55213155161.

11. 111 and 1v

11, 111 00dS0 1V
55213155162.

1. 1wvand v

11, 1V 500050 V
55213155163.

1. 1vand v

1. IV S00a%0 V
55213155164,
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Which of the following are the basic characteristics of society
&8 800 @of3E® Hmeo aBY,; B0y e DI 7

1. A definite geographical area
25 HJE@JEQ gPPBE 0SB0
1. Mutual Interaction and Mutual awareness
B’}iﬁéﬂiﬁ ﬁ’)(éj a0 ‘53(5‘{%(‘5 0 PLRW
. Society 1s concrete
DBERBO L BERODD
1iv.  Society 1s dynamic
DATPBO  HBBOI0DD
v. Distinctive Culture
PO, D0

Options :

1. 11 and 111

1, 11 $50OA5D 11l
55213155165.

1. 11 and 1v
1. 111 5500a50 1V
55213155166.

1. 1wvand v

1. 1V 8500as50 V
55213155167.

1. 11 and v
1. 111 S0OaA30 V
55213155168.
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Which of the following statements are not correct ?
8 800 MR HODHD 50 JDP

1. Sociology 1s a categorical and not a normative discipline
QAPBHYO 205 VN PPO O DRSS YO TAD
1. Soctology 1s an Applied Science
WRAPBIYO 25 DOB PYO
. Soctology is not an abstract science but a concrete science
DHRBIYO PVGOP 258 D), BRO TN TR, &Y LED RO
1v.  Sociology 1s a rational and empirical science
DEPBRHO & TMDIDD, OFGIDIPE PO

Options :
1, 11 and 11

1, 11 S0OCSH 1
55213155169.

1. 11 and 1v
1. 111 0050 1V
55213155170.

11 and 111
11 S0cswn 111
55213155171.

1 and 1v

1 50050 1V
55213155172.
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Gandhiji suggested the following methods to apply the concept of Non-violence:
crofiel elpor gRaiidy oo danEs So mBE® & HEdD rdom :

. Fearless self-sufferng and Truthfulness
RSO, yi3ogRes OGN DERONS
.. Persuasion, self-control and fastimg
od0csta0, ydh AA0BEH Hoak EHT00
. Love, compassion and sympathy
e, Bt So0asn Herogind
iv.  Resistance and non-cooperation
AR aDOATN PR RS

V. Suppression of enemy for the sake of truth
B0 §08 J8)0 oBODADEO

Options:

1.1 and1v
1, 11 S0 1V
55213155173.

1. 11, and 11
1. 11 500a30 111
55213155174,

1. 11, 111 and 1v
1. 11. 111 S0Oa510 1V
55213155175,

1,11, 11, v and v
1. 11, 111, 1V 500G50 V
55213155176.
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Which of the following soctal thinker has strongly emphasized on the principle that
“means justifies the end”

8 BB Akeivests T IBOB® D5t “ogad) deosen MNP0 B, HSrER)”
DO 532, Howetd 7

Options:

M.K. Gandhi

dsoo. 8. PoH
55213155177.

Dr. B.R. Ambedkar

@, 9. e95. &}05&38_5
55213155178.

Swanu Vivekananda

FoR0 DDTOOL
552131551709.

Aurobindo Ghosh

0P HO%
55213155180.
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Dr. BR. Ambedkar has suggested three principles to govem the Dalit Movement.
These Principles are:
@. 2. 0. @850 %8 Atdned HEDOEDS M Hrgd

RO, D).

Options :

Self-Respect, Self-Progress and Agitation
88,550, ;a0 DO S0OA30 IO
55213155181,

Self-Respect, Agitation and Organization

&8,[P5H0, DO HoDASH  DDVEGE
55213155182. ¥

Self-Respect, Self-Confidence and Agitation

&8,0P050, P D0 OGN o0
55213155183.

Education, Agitation and organization
D, , DO O  HHHBEGEs
55213155184, @
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According to M.N. Srinivas which of the following are the important characteristics
of a dommant caste :
808 aeld® aso. A, BT HH00 ePDE, LI00 WS, HED O

o8 .

1. Numerical Strength
BOEPVVOMR DO, VOO

1. Modem Culture

BODS WOuyB
1. Economic Power through ownership of land
OBV 000 BOS PTV0
, g 30 T 82 o
iv.  Clean Occupation
SOHEDD 5B
t_p a_ D
v.  Political power
mada% &0z0
Options:
i1, 1v and v
11, IV 500d50 V
55213155185.
1, 111 and v
1, 111 Sodasn v
55213155186.
1, 11 and 111
1, 11 500500 111
55213155187.
i1, 1v and v
111, IV &00as0 V
55213155188.
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Match the followmg :

800 oD BBV :
List-1 List—1II
o5 - a5 - 11
Author Book
glelnkcle] fogo
I. Radha Kamal Mukherjee a.  Soctal Tenstons m India
owj 5596 5098 A6 55,5 &5 moBaim
2. GS. Ghurye b.  Annthilation of Caste
. %R, 0, oRBHS ef TG
3. MN. Snmivas ¢.  The Social Structure of Values
a0, Ao, Sdaw & b P 86 8 OO
4. BR. Ambedkar d.  Soctal Change i Modem India
®. 86, ©0tits 6 IO D0E /O SREHE ROBASP
Codes :
G .
Options :
1-b. 2-d. 3-a. 4- ¢
55213155189.
1-d. 2-a, 3-b. 4- ¢
55213155190.
l-c, 2-a, 3-d, 4-b
55213155191,

1-c, 2-a, 3-b, 4-d
55213155192
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Which of the following aspects have been studied by G.S. Ghurye :
806 BB &. ad. ?’m@) &,ANDO DD 0P HS P

1. Caste and Kinship

5000 200NN D0EIB0
it.  Modernization and Social Change
estoR850m S0 ASmes Smb)
. Culture and Civilization
D0Hp® DA THIOES
1v.  Democratic Rights
DEPVRN), GPEY €0
v.  National Unity and Integration
BB DES DO Ded}ies
Options :
1, 11 and 11
1, 11 S0OAS0 111
55213155193
1, 111 and 1v
1, 111 SoOAS0 1V
55213155194,
1. 1vand v
11V S00asn vV
55213155195,

1. 111 and v
1. 111 0050 V
55213155196.
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The methodological framework used by the Radha Kamal Mukerjee m his

soctological research constitute of -
85 Anesmets DOS568 e 5506 oS bimBotsed Somamedd ko

88 800 TBE® BB BHASNOD :
1 Structural functional approach
00,8 - PG o
i.  Civilizational approach

TIPS Ly50

i1, Comparative method
BOTBS DR

A Subaltern Method
B G500

V. Trans disciplmary approach
455 BbY96 o

Options :

1, 11 and 111
1, 11 50Oasw 11
55213155197.

11, 1wvand v

111, 1V 550050 V
55213155198.

1. 111 and v
1. 111 S00d30 V
55213155199,

55213155200.



11, 1v and v
11, IV 80050 V



